INTERNATIONAL (NON-EU) STUDENTS TUITION AND FEES ACADEMIC YEAR 2024-2025





The tuition for the new students of the academic year 2024-2025 is based on the European Credit Transfer and Accumulation System (ECTS), which provides a clear and transparent method of calculating the semester and yearly tuition (based on the number of ECTS registered per semester/year).

BACHELOR'S PROGRAMMES	Total ECTS	Tuition Per ECTS	Yearly Tuition (for 60 ECTS)
		€	€
SCHOOL OF BUSINESS		'	
Accounting	240	159	9,540
Business Administration	240	159	9,540
Business Administration in Tourism, Leisure and Events Management	240	159	9,540
Hospitality Management	240	159	9,540
Management in the Energy, Oil & Gas Business	240	159	9,540
Management Information Systems	240	159	9,540
Marketing Management	240	159	9,540
Sports Management	240	159	9,540
SCHOOL OF EDUCATION			
Music	240	162	9,720
SCHOOL OF HUMANITIES AND SOCIAL SCIENCES			
Architecture (BAArch/MArch) ¹	240/300	159	9,540
Digital Communication and Mass Media	240	159	9,540
English Language and Literature	240	159	9,540
Fine Art	240	159	9,540
Graphic and Digital Design	240	159	9,540
Interactive Media and Animation	240	159	9,540
Interior Design	240	159	9,540
Psychology	240	159	9,540
Public Relations, Advertising and Marketing	240	159	9,540
SCHOOL OF LAW	2-10	107	7,040
International Relations and European Studies	240	159	9,540
Law	240	183	10,980
SCHOOL OF LIFE AND HEALTH SCIENCES	2-10	100	10,700
Human Biology	240	183	10,980
Nursing	240	159	9,540
Pharmacy² (5 years)	300	159	9,540
SCHOOL OF SCIENCES AND ENGINEERING	000	137	7,040
Civil and Environmental Engineering	240	159	9,540
Computer Engineering	240	159	9,540
Computer Science	240	159	9,540
Data Science	240	159	9,540
Electrical Engineering	240	159	9,540
Mechanical Engineering	240	159	9,540
Oil and Gas Engineering	240	159	9,540
MEDICAL SCHOOL	240	157	7,540
Medicine (Doctor of Medicine, MD) ³	360		18,000/22,000
Medicine (Doctor of Medicine, MD) Medicine (Doctor of Medicine, MD, graduate-entry)	300		24,000
SCHOOL OF VETERINARY MEDICINE	300		24,000
Veterinary Medicine (Doctor of Veterinary Medicine, DVM)	300		20,000
verennary medicine (Doctor of verennary medicine, DVM)	300		20,000

The MArch Architecture programme is a five-year, integrated Master (300 ECTS) and is charged with tuition of €9,540 for each of the 5 years of study. The same yearly fees apply for each year for the 4 years of the BAArch programme (240 ECTS).

The Pharmacy programme is a five-year, integrated Master and is charged with tuition of €9,540 for each of the 5 years of study.

³ The tuition is €18,000 for each of the first 3 years and €22,000 for each of the remaining 3 years.

MASTER'S PROGRAMMES	Total ECTS	Tuition Per ECTS	Tuition for the Entire Programme
		€	€
SCHOOL OF BUSINESS			
Business Administration	90	154	13,860
SCHOOL OF HUMANITIES AND SOCIAL SCIENCES			
Clinical Psychology	180	180	32,400
Counseling Psychology	150	180	27,000
Digital Art and Design	90	154	13,860
Digital Media and Communications	90	154	13,860
Teaching English to Speakers of Other Languages (TESOL)	90	154	13,860
SCHOOL OF LAW			
International Relations and Eastern Mediterranean Studies	90	154	13,860
Law	90	154	13,860
Public Administration	90	154	13,860
SCHOOL OF LIFE AND HEALTH SCIENCES			
Biomedical Sciences	90	155	13,950
SCHOOL OF SCIENCES AND ENGINEERING	·		
Oil, Gas and Energy Engineering	90	154	13,860

DOCTORAL PROGRAMMES	Tuition for 3 Years ¹
	€
Business Administration	15,120
Computer Science	15,120
Electrical Engineering	15,120
Exercise Science and Physical Education	15,120
International Relations and European Studies	15,120
Law	15,120
Media and Communications	15,120
Medical Sciences	15,120
Nursing	15,120
Nutrition and Dietetics	15,120
Oil, Gas and Energy Engineering	15,120
Physiotherapy	15,120
Psychology	15,120
Public Administration	15,120
Teaching English to Speakers of Other Languages (TESOL)	15,120

The tuition of €15,120 shown above represents total tuition for 3 years. For each additional year (maximum 3 years), the tuition is €1,700 per year.



FINANCIAL AID/SCHOLARSHIPS

The University of Nicosia offers a number of scholarships to International (non-EU) students, based on academic merit, athletic performance and/or financial need.



ONLINE/DISTANCE LEARNING PROGRAMMES

BACHELOR'S PROGRAMMES	Total	Tuition	Yearly Tuition
	ECTS	Per ECTS (€)	(for 60 ECTS/€)
Business Administration	240	113	6,780

MASTER'S PROGRAMMES	Total ECTS	Tuition per ECTS (€)	Tuition for the Entire Programme (€)
Blockchain and Digital Currency ¹	90	182	14,560
Business Administration	90	120	10,800
Computer Science	90	134	12,060
Data Science	90	134	12,060
Drug Regulatory Affairs	90	134	12,060
Family Medicine (MSc)	90	200	18,000
International Relations and Eastern Mediterranean Studies	90	120	10,800
Law (LLM)	90	120	10,800
Metaverse ¹	90	187	14,960
Public Administration	90	120	10,800
Public Health	90	134	12,060
Social Work	90	134	12,060
Teaching English to Speakers of Other Languages (TESOL)	90	120	10,800

One course with 10 ECTS is offered through Massive Open Online Course (MOOC) free of charge.

OTHER FEES	On-Campus Programmes (€)	Online/DL Programmes (€)
Application fee (one-off/non refundable payment)	60	60
Visa Application fee (one-off/non refundable payment)	150	0
Registration fee (per semester)	30	0
Health & Accident Insurance (per year)	175	0
Student Activities fee (per semester)	20	0
Technology fee (per semester)	15	0
International Student Guarantee (one-off/refundable payment)	400	0
Transcript fee (per copy)	5	5
Evaluation fee (transfer credits/ECTS)	60	60
Second Exam fee (per course)	65	65
Graduation Application fee	60	60

Note: Fees for Transcripts, Evaluations, Second Exams, and Graduation Applications are charged when the service is requested. For the Medical School and the School of Veterinary Medicine programmes other fees and payment options may apply.

EXAMPLE OF YEARLY TUITION FOR ON-CAMPUS PROGRAMMES

For example, the tuition and other fees for a full-time student enrolled in the On-Campus Accounting programme (Bachelor), who is registered for 30 ECTS per semester (60 ECTS per year), are as follows:

Number of ECTS	30	30	60
	Fall 2024 (€)	Spring 2025 (€)	Yearly (€)
Tuition	4,770	4,770	9,540
Application fee (one-off/non refundable payment)	60	-	60
Visa Application fee (one-off/non refundable payment)	150	-	150
Registration fee (per semester)	30	30	60
Health & Accident Insurance (per year)	175	-	175
Student Activities fee (per semester)	20	20	40
Technology fee (per semester)	15	15	30
International Student Guarantee (one-off/refundable payment) ¹	400	-	400
	5,620	4,835	10,455

One-off payment and refundable when the student leaves the University.

PRE-UNIVERSITY ENGLISH

Students may need to take pre-university English courses based on their score in the English Placement Test. These courses carry additional teaching hours per week and fewer ECTS and tuition is based on the teaching hours.

PERSONAL/LIVING EXPENSES

The estimated expenses for the academic year are as follows:

	€
Accommodation (shared accommodation)	3,000 -5,000
Accommodation (single accommodation)	5,000 -7,000
Food and personal expenses	3,350 -5,000
Books and stationery	400 -500

TRANSFER OF CREDITS/ECTS

Course credits/ECTS completed at other recognised institutions may be transferrable to the University. The Evaluation fee for this is €60. Candidates will need to submit official Transcripts and course descriptions in English.

PAYMENT OF TUITION AND FEES

According to the Migration regulations of Cyprus, International (Non-EU) students are required to be full-time (30 ECTS per semester, 60 ECTS yearly) and pay each semester's tuition and fees in advance. Tuition and other fees are calculated and charged at the beginning of each semester (Fall and Spring). The amount of tuition and fees stated in the Student's Certificate of Admission must be paid in full (unless otherwise specified by the University) by the visa application deadline which is also stated in the aforementioned Certificate.

PAYMENT OPTIONS

All payments should be made in Euro (€) through one of the following payment options. **Students are advised to always state their student ID number.**

1. Online through the University website

This option is available for new applicants who wish to pay their application fee or tuition deposit online. Online payments can be made via JCC Gateway, Paypal, Flywire and Bitpay. Applicants should visit the University's website (www.unic.ac.cy) and go to Applicant login or www.unic.ac.cy/apply

2. Online Payment through UNIC Portal

(You can access the Portal provided that you have obtained a student ID and have received your credentials)

- Login to UNIC Portal at portal.unic.ac.cy/signin
- · Click on "€ Finance"
- Click on "Pay with JCC" or "Pay with Flywire"
- Enter the amount you wish to pay and click "Proceed"
- Enter your credit/debit card details and other information as requested

3. Online at JCCSmart

Visit the internet site www.jccsmart.com

- Click on "Categories"
- · Click on "Academic -Tuition Fees"
- · Click on "University of Nicosia"
- · Click on "Tuition Payment"
- Enter your JCCSmart e-mail and password
- Enter your University Student ID (the ID must begin with U or A)
- Enter the amount you wish to pay

4. Online through Flywire

Flywire is an easy-to-use payment solution that enables our international students to pay in their local currency, select their preferred payment method, and benefit from competitive exchange rates. Students are also able to track the path of their payment online and obtain support through the entire payment process. You can pay online using Flywire at uniofnicosia.flywire.com

5. By Bank Transfer (account details are as follows)

Hellenic Bank, Nicosia, Cyprus

EDEX - Educational Excellence Corporation Ltd

Account No.: 119-01-567831-01

IBAN: CY15005001190001190156783101

Swift Code: HEBACY2N

Bank of Cyprus, Nicosia, Cyprus

University of Nicosia

Account No.: 0182-11-007377

IBAN: CY35002001820000001100737700

Swift Code: BCYPCY2N010

In the case of a bank transfer, please send the bank deposit slip via e-mail to finance@unic.ac.cy

6. By means of a Bank Draft issued to the University of Nicosia

7. By Cash, Cheque or Visa at the Finance Department Offices

FINANCIAL AID

The University wishes to support international students who experience financial hardship, and will examine each case, with its relevant documentation, individually.

SCHOLARSHIPS

Partial scholarships based on academic merit and athletic achievements are available.

Based on Previous Academic Performance

International students, in their first year at the University, are eligible for a scholarship on the basis of the grades of their High School Leaving Certificate, depending on the country in which this qualification was issued. Scholarships are given as a percentage reduction on tuition and are valid for one academic year.

In order to be eligible for this type of scholarship, students must:

- submit their High School Leaving Certificate and/or Bachelor's Degree upon application,
- pay the whole semester's tuition and fees in advance, and
- be registered on a full time basis (30 ECTS per semester)

More information about this type of scholarship can be obtained from the Admissions Department.

Based on Academic Performance at the University

Two regular semesters after the student first registers and every semester thereafter, scholarships will be awarded according to the student's academic performance at the University, as follows:

Cumulative GPA	Scholarship
4.00	50%
3.75-3.99	20%
3.50-3.74	10%

In order to be eligible for this type of scholarship, students must have:

- full-time status (30 ECTS per semester)
- · completed a minimum of 60 ECTS at the University, and
- · been registered in the previous semester

Notes:

- 1. Scholarships are not applicable to Postgraduate (Master or Doctoral), Medical School, School of Veterinary Medicine and Online/Distance Learning Programmes.
- 2. Students who are eligible for more than one type of scholarship will be awarded the scholarship constituting the highest amount.

ADMISSION REQUIREMENTS

- · Completed application form
- · Passport copy
- · High School Leaving Certificate (Lower & Higher secondary with mark sheets)
- Bachelor's degree and transcripts (Postgraduate students)
- Master's degree and transcripts (Doctoral students)
- · Research proposal (Doctoral students)
- Two letters of recommendation/reference (Postgraduate students)
- Personal statement (Postgraduate students)
- · CV (Postgraduate students)

VISA PROCEDURE

International students are required to apply for a student visa in order to enter Cyprus. A series of documents must be assembled (e.g. police character certificate, medical reports, etc.) and must be attested by the appropriate authorities in the student's country. As the attestation process differs between countries, please contact the Admissions Department for further advice.

Student visa completed applications must be submitted to the University by the appropriate deadline of each intake.

IMPORTANT DATES

	Fall Semester	Spring Semester	Summer Session
Commencement of Classes	September 30, 2024	February 10, 2025	June 16, 2025

Contact us